Here are the answersfor Thursday 21t May
Inference
8. The mounds of cooling brown and white are the scoops of ice-cream.

9. The answer is b) drinks.

Maths Starter

90+10=9 3x6=18 6xX4=24

Friday 22nd May

Today, if you haven’t already, you need to complete the online maths quiz for this week. Then
complete the money worksheet below.

Don't forget ete the Maths quiz for this weel
https://forms.gle/MQwuAdgMB7 9ZzyFs8

Please fill out the quiz independently.

Friday

Maths Starter

7x3= 7+3= 7-3=

Main activity


https://forms.gle/MQwuAdgMB79ZzyFS8

Declan has two 5p coins and a 10p coin.
Which two ways could he pay for a 10p lolly?

or

@ Mia has a 50p coin. Harry has two 20p coins and a 10p coin. Who‘
has more?

Mia / Harry

Explain your answer.
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9 Two 50p coins make £1. How many 20p coins would make £1.:‘

o How many 10p coins do you need to make one pound?

———

6 Which three coins could Mrs Thompson use to make 26p?

P p p
@ Sam has five £1 coins. How many 50p coins would he need to
have the same amount?
English Activity

Today you need to think carefully and write some sentences showing what the boy might be
thinking. Try to use your imagination. Don’t forget to use your neatest joined handwriting too.

Focus: Imaginative writing



In the thought bubble write what the boy could be thinking.

Comprehension

Re-read the text the ‘The Ice-cream man’ and answer question 10.



Reading optional extra - Read yourfavourite story and paint a picture of the setting.



